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1. Bisection method does not work 1. Fxdswm bt ot 98 @ ¢ gk 2

if two roote are o 4
(A) Unequal (A) JaHHA
(B) Equal - (B) ®AM

M 4 T g9
(C) Atleast equal (C)

__,Q‘)r) Nearly equal

b ) The Equation f(x) =0 ia called an 2. FRHT £(x) =0 T AFTRE Tersr
algebraic equation if f(x)ig a - FEARR 2 AR f(x) & B

(D) @ I3qET

/&(ﬁ)” Polynomial é (A) 989

(B) Transcendental Equation . (B) Srdona dHIETT
(C) Both (A) and (B) (C) A @) M (B
(D) None of these D) A F B¢ 7
3. Newton— Raphson methadcanbe 3. =I-UHe R & O 3 ferg w@n
used for solving 5 1S G s
(A) Algebraic Equations (A) deierdy edfeen &
(8) Transcendental Equations @) I e @
ACy Both (A) and (B) () T (A) I (B)
(D) None of these : ™) ™ ¥ ¢ el
4. Onerootofthe EguationxX®x—1=0 4. ¥TIHT x*—x—1=0 F TF [ 551 g
T dr ¥
| ﬁ] Lend® (A) 132
¥ 0 and i B) 0 1
(C) 2and3 © 293
(D) 1and3 - D) 143
US-15107-Series-R (1)
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gt Ry & #T aFEE 3)
5. In Nowton — Raphson method 6. LT !
successive approximations are Ry ol @
e x.r.l S - () o
(A) x + f.((; )) A) %, * T(x.)
£'(x,)
f! f'(x,)
(B) b S f((:n)) (B) X, - f(x,,) i
f(x,)
S, f“{::]) © x- Py &
‘ f'(x,)
f'(x,) .
(D) xn+ f(X) (D) xn .._-—"-f(xr)
6. Bisection method is always 6. aiem Rft wa R
(A) Divergent (@A) s |
Converg-ent (B) m
‘_,CQJ Conditionally Convergent (C) a7 &1 q afgard
@) F a7

(D) None of these
7. The rate of convergence of 7.

Newton-Rgp_t;s_gg_gethpd is

q;q-mﬁmiﬁmm:@a?%

") Cubic &) =
(B) Linear (B) w&-tdR
(C) Fourth order (C) qgd
(D) Quadratic (D) RErdE
8. Whichmethod is not applicablefor 8. P & @-4\ Ry @ wra &3 3 fw
(A) Secant (A) Secant
(B) Bisection (B) Bisection
Lagrange'’s (C) Lagrange's
(M) Regula Falsi : (D) Regula Falsi
US-15107-Series-R (2)
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9, In which of the following method 9, s LGl & Ifud e foretiaftad
proper ¢ chaice_of initial value is At § @ R fre SR e 2
very 1mportant \ethod (A) W'W Ry

A) Newton-Raphson Met ®) .
@,4(8) Bisection Method © Wiiilll e
(C) False Position Method ﬁﬁmﬁjlﬂlq
(D) Secant Method D) ¥ -

10. The order of convergence of 10, Yyem-wed QY & e d
Regula-Falsi method is verneennes 21
) 2 (B 1618 A 2 ®) 1618
© 172 (D) L172 © 172 @O 1172

11 A f(x) = i;. then divided 1L z:i?:f(x)-—— a4 f(a, b, O W Ragfes
. " 1
du’ferencc of fla, b, c) is - Red 2
tﬁ) ab+botca (88 - 7 3 fas) ab+bc+ca
g 2bic’ -0 2,22
a‘b‘c N [ -‘.Z MY ( ‘1* &‘IL:. abc
2 -l
(B) P ((’—R} C-b) Ty (B) e
© 2L b-“ b2 - ‘—"+‘J('-C) a+bte
aEf‘-w?Lc—a) % abe
a’ + b+’ # 4'24 S Sval+b+c
D S { g et
( ﬂzhzcz 1b_c_
12. The divided diﬂ'ereréce f(x,, x,) is 12, PEs BWE f(x,, x,) T 5
equal to b (.3~ £(x,)
f(xl ) - f(xo}_ (A) X, + X,
® e
L £(x,) + F(X,)
B M (B) K1 -+ xﬂ
N £(x,) - £(x,)
f(x,)—t(xy) () X, - X,
R F(x,) + (%)
£(x,)+ f(x,) D) " x -x,
[DJ X) =Xy
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13. The nth divided difference can be
expressed as the quotient of two
determinants each of order

14. By interchanging the suffixes of
the operator and the operand, the
value of the dividuc! difference

(A) Changesits sign
(B) Becomes zero
(C) Becomes one

ﬁ Remains unchanged

15. The divided differences can be
_expressed as the ............ of
multiple integrals.

(A} Sum

~(B) Division
ﬁ Product

(D) Subtraction

lf The divided differences are .......
* functions of their arguments,

,,.(54- Symmetric

ﬂ “Not symmetric

(C) May or may not be symmetric
(12) None of these

US-15107-Series-R (4)

13. @ Prfcat @ e # 50 neh B

BN 2
(A) n
(B) n+1
(C) n-1
D) 0
14. SR @ AT 3 suffix F &

W R R A

(A) Fre gzaw @

(B) { & @ &
(C) @ & v 8
(D) azam 8 &

15. 3= Rem § arif R s %

16. oY [ure 398 73 ® ... waq ¥y

(A) wuRg
(C) W 2 9 ot
w5 ¢ a

@) & 3 3% 7
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17. InLagrange's formula P (x) =

& f(x) f(x,)
g(x x,) ' {x) ¢ (n) is equal

to:

@ T &x-x)

ﬂf{' (x—x)
© T (x-x)

D) :I_'Ij (x-x)

The relation between the first )
order divided difference and
forward difference is

A fx,x)=a f(xD)

/‘QB) f(xy x)=

€ fix, x)=

18.

SR
- Af(xo) Z -\'

3

Safy (PP

=

(2-\)(\21'?!* 7-)

17. a2 g2 ¥ P (x) =

Z'; _8(x) fix,)
* (X - x)¢ (x ) ¢(n}?Fr‘r'8

B) T (x-x)

B) 1 (x-x)
© T (x-x)
D) ‘:f.la (x-x)

T B9 % f3ansz Bwis i el
RBwty i T 3

(A) f(xg x)= _‘-f(‘io)

B) f(x,, X)= -l'-l Af(xo)

18.

©€) f(x, x)= hl A f(x,)

(D) f(x,.x,)—haf(x,) wei+2 D) fix; x)=haflx)
19. Iff(x) = x*, then /N f(x, y) = 19, R Hfx)=x T AN flx, y)=
) PEyiexy (S (A) x*+y*+xy

B *-yi+xy (B) x*—y*+xy

© x*-y'-xy . ©) x*-y*-

(D) x*+y*—xy D) x*+y*—xy

20. If A and E are two operators on
. £x) then which of following is true

20. IR A TN E Q QT F B f(x) T

W P Y 9T 9 R

(A) Am F*+2E+1 - E\ (A) A*= E4+2L+)
B) A'm E2+4| - - T2
(B) A'= E?+ g‘z_u-?E (B) a*= E*+1)
2% A's E1-2E+| (C) a's E*-2E+1
(D) a'= E2+2E (D) A*s E?+2E
US-15107-Series-R (5)
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21. The first forward difference of fx)  21. To¥ PRI HH f(X) B g fig

13 defined as A fix) = IR AfN) =
27 fix+h) - fiy) (A) fx+h) - f(x)
tlf" fx) ~ fix+h) (B) ftx) - f(x+h)
() ix) - fix-hy (C) f(x)-f(x-h)
D R
o ) ) fix-h) - fiw) (D) fix-h)-f(x)
22. IfA8X) = ¢, then fix) is 22, IR Af(x) = e, T f(x) 3
(A e
. A X
(B e EB; :
e-!‘.
_—
() = ‘
e" | (C} eetl
1\'[], —E\_ | X
i - €r | (D} l = n
—e
23. The valye f iré 3 ) A
O_kE 115,_ 3 23. (E-]x’ﬂ-'rrﬂﬁ’%
{A) 3x (A) 3x
I 6x
(B) 6x
(C) -6x (C) -6
D) —3x D) _3x
-3x
- Which of the followine ;
g 15 correct 24, Wiafae & -
T q B-w w2
= 1A= | y T
/ ('.3‘.] D_n L.ﬁ 2-{:—;-3—— .-‘ (A) =_I_ [A_é..pé]_ .......... ’
is = 4 n IQ 3 J
_ 1/, & A ]
B) D=-1A+ 32 J ][ -y
. P BY D=—|A+— 4+ g,
il 203 @ D=l|4*% 5
} - AN A
) D= A-—5 = 2 :
/)/ n T3S -l (C) D=i[6+——+£+ --------- J
J n L
[ A N
(D) D= -r; .é -?: 4 ? - ‘} {D} D= -]_ {ﬁ—§+£ - ..J
: n 2 3
US-15107-Serijes-R (6)
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26. The value of A" (ax" + bx* 1) is

(A) 1n

ol

©) ln=1

®) b -1
26. The value of (1 +4) (1-V) is
ya

@® -1

(© ©

©) 2
27. I££(0) =—3. (1) = 6, f(2) = 8 and

_£(3)= 12, thed(s* f(0) i8>
(B)

©
o 5

tha

L < w

98. The denominator of the _exp_u_-easion

[f(x)] 8(x).Af(x) - £(X)-Ag(x)
A2 2 B

B .

g(x)

to be true 1s

(A) fx). Eglx)
(B) fix) - Ef(x)
597 g(x) . Belx)
D) Ef(x) . gx)

BeAs

US-15107-Series-R (7)

26. A%(ax®+ bx™") & 9 2
(A) |n
(B) aln
(C) |n=1
D) b |n-I
26. 1+8)(1-9) F TH 8
A 1
®) -1
© 0
D) 2

97. R f(0) =3, f(1) =6, f(2) =8 3
f(3) =12, @A f(0) ¥

A) 9
B) 6
© 3

D) 5
908, ey %% &4 & T 7T 8

[f(’*)] o(x). AF(x) ~ f(x).Ag(x)
‘a 2(x) = -

9

g(x)
(A) f(x).Egx)
B) f(x). Efix)
(©) gk . Eglx)
(D) Ef{x) . g(x)
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29. qﬁmaﬁrnmﬂiwfﬂ,iﬂmg

29. If m and n are positive integer
5 m<n, 7@ 4% @ 8

such that m<n. then A™x® is

o P
(A) Tarm hoxomm A Torm hm x @
n
B) ImI:n = s B) Imlin b=
L
©) - — hexonm ©) Tle; hm et
m o~ m m 0~
w*nmh .mlm] 4 D) In—mhxm(]
30. &*yzlsequalt.o {E'}'"?‘E.} = 30. A’ysi'{l'ﬂ'{?-'
A ¥ ~—}'2+1 3y 1"31*%2. (A) y‘__-,rg+l
2},-!-)‘0 {‘Q‘{M (B) y‘-z‘}rg.'-yﬂ
(&) )4 Y, —2y, lé (C) Y;"Yg"g}'z

-*"’”afo D) y,+3y,+2y,

D) y,+3y,+2y, i
31. EBCDICcancode uptohow many 31 EBCDIC R R-fre @il #
different characters .- ?'ﬂ T W THN.2
(4) 256 (B) 816 A) 266 (B) 816
/ 64 (D) 32 (C) &4 L) 32
+ ASCITand EBCDICoften in_ 32. ASCII R EBCDIC 3m: &

(A) then: efficiency in storing
T (A) @ ©R & 7 I g

data .

(B) ;e randon:‘tm?ad sequential ®) T 3k Rieiifme W Ry
access method - ——

(C) their c:olle-cting sequential © _mm 3PS I B

(D) the number of m bytes used D) 7T B 73 4 m bytes 7
to store character T

US-15107-Series-R (8)
https://www.ccsustudy.com
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338. ASCII cede are q_f ceereerenen. tYPES. 33. ASCII®5 ........... T & 24 &)
(A) 2 (B) 3
A) 2 B) 3
C) 4 D) 5
© 4 D 5

. The processing of finding the 34. G7 D HaHT B [EE! R gWET B
/jﬂ 1R & P @ gBe @ Fed 8

derivatives of a function with the

— - ———

help of the gwen set of values of @)

that function is called.

(A) Quadrature é (B) AT A%
(B) Numerical differentiation (©) AR F

#HC) Numerical Integration i
(D) = T&

P ~«D) None of these

/’/. 35./‘;:5u'hich one of the fo_“owing 1S 5. freranaa 3 3 g7 2

7 correct

e N
e ’ d)' 1 _:l_v? [,@_] - _l [T}. + —F:)"
@) [Td;)., “hn [V}" "2 s (A) {ax .. N 2
! lV’\' +i‘C' v, * "lf
+_?J).- + Viv +..... -rg A P ...._r
éy ) .
(B) (a?) ” (B} I\d"\ 4 wang
Koy
11
I ] BT 4
gty 4+ Py + — VY +] 2 [v SR B ]
'I"[v Yn+vYn+24 . w n -4

(©) (L) 3N (B)

Both (A) and (B)
A D) & B¢ @

(D) None of these

US-15107-Series-R (9)
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/ﬁ'hich one of the followingis true  36. FH & Pa-m T 8

&Y if,. 1, a) _[py -ty
a) [d.\] -;[A)f _EA Ye (A) (a]“ - n[ Yo 7770
+-l-§.‘\' +—Aly, + +lg‘ +lA‘y t ocreenane
3 Ja 0T saevennne 3 YD 4 0 |
(_d_} - I, . 1. d’y Lre A
(B) \dx"]‘.. ..?[A}J—a}. B) (E) =-IF[£1}’: Yo
*—AY, + ... ”&‘ + .
Y P +§-£ Yo secenns
d'y ) d’y
o |&F)..- o (55).-
1 [ 3 3 £ } 3 -l
‘K;[dyﬂ z—ﬁyo+ ,,,,,,, ] #[f\)'o*'ifh’f ....... |
/mj’ﬁllarelrue D) w7 ¢
37. From the following table 37. Fraivfae aht @ y'(4) & 9 #|&MO
x:1 2 4 8 10 & '
£,
(A) 2.8000 (A) 2.8000
(B) 28326 " (B) 2.8326
(C) 2.8500 (C) 2.8500
(D) -28326 (D) -2.8328
88. Find the odd one out in the 38. fr= 7 faw i e
following
(A) FPROM (B) BCD
fi EPROM (B} BCD © ASCII
— — = y (D) EBCDIC
(C) ASCI (D) BCDIC
US-15107-Series-R i (10)
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39. About primary memory, following  39. SmfvE Sfq Rag 4 v T a7 &

are two statements w1 - W‘ﬁf e i A 2|
Statement-I : It has limited FI1 - 28 At 3
capacity e

Statement-ll:llt has volatile |
nature

%Onlylcm‘rect ))WI%’?%
(B) Only II correct (B) #aa I 7 &
(C) Both I & IT are correct (C) 1 an Il af &

___ (D) None correct M) a2 é T 2 |
() Which of the following is most ~ 40. F= ¥ & #-41 o dswE g

oriented to scientific programming # fe gad s Iw @
"TA) COBOL ' * (A) COBOL
5B) FORTRAN.' (B) FORTRAN
(©) RPG . .. (C) RPG
(D) BASIC < (D) BASIC
41. What is odd among these 41, F T FEH ¢
(A) Windows XP (A) Windows XP
(B) Windows Vista (B) Windows Vista
© DOS (C) DOS
ﬂ Microsoft Office (D) Microsoft Office
42. A computer can not BOOT if it 42, ¥ ¢ 78 & w0 ak 39 71 2-
does not have the ............ (A) @
(A) lLoader (B) #Ec#
(B) Cumpiler (C) Siqfen fveen
9,407’ Operating System (D) FY=HTE

(D) Assembler

US-15107-Series-R (11)
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43. Ina computer system, find the odd
one out among following
(A) RAM ?
B CD
(C) ROM_ - >

ﬂ] CACHE

44. A computer performs which of

following tasLQ(se]ect best answer]
(4) [loputting, Stormg Processing
antmlhng]
(B) [Shton_ng deleting, outputting]
(©) [Outputting, adding, buffering]
(D) [Downloading, storing, pro-
cessing]
45. Persona]_cum_pJ.xter was produced
_duetoi novation of
(A} Vacuum tube development
(B) Transistor development
“Integrated
development
(D) Microprocessor development
46. Integrated cn‘cmt (IC} was used
ﬂ:st-tlme ® in _
{A} F irst generation of computer

(B) Second _generation  of
computer

circuit

Third generation of computer

Fourth generation of

computer

US-lEIU'i-Series—R

(12)

44.

45.

46,

(a) g, ST, R, e
@) [t Reffen, e

©) [orwege, o, wHe

D) [eten, @R, T
e T AL H T g
(&) P T e

®) g Rew

- ——

© 795 e e
(D) AN R

HE e H I T aw g
Eﬂ- bl

(A) o8 ST P F
B) fecdir I ey 3
©) Tl I ey
D) o5 e wrger 3

https://www.ccsustudy.com



47.

48.

49.

US-15107-Series-R

https://www.ccsustudy.com

CD-RW is-

(A) _Compact Disk-Read/Write

(B) Concise Disk-Read/Write

(C) Compact Disk-Read/Write

D) Character Dia'play-Read_f
Write

By LCD we mean

(A) Liquid Colour Display
Liquid Crystal Display

(C) Limited Crystal Display

(D) Limited Colour Digplay

Statement I-the data access by

CPU from Hard disk is slower

Statement II-the data access by

CPU from RAM is faster

Statement III-the data access
from CACHE is fastest.

Which of the following is correct

about above statements
(A) I+ 1I correct

(B) 1+ III correct

| J#mmmct

(D) 1+11+ III correct

(13)

47.

48.

49.

CD-RW & 2

(A) TR Rw-{’we
(B) #ww Re-{’ /e
(€) Fiw Bes-fs/me
(D) w7 B fiz e
LCD & &1 goot 2

(A) RifaR Fae feey
(B) Rz Brew e
(C) Rz Beg R

(D) Rz s Rwd
v 1- A9 2o o B @ e
Prean i kW 21

wa I1- ¥ty 2T 19 @ skeer Preer
faax & 3

¥ III- 39 & =@ P e
& 3 35 T 3 P -

w 2-

&) 1+
®) I+
(C) II+ 11 wh
(D) 1+11+ 111 &

https://www.ccsustudy.com
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- - - ﬂﬁﬂﬁ ’ﬂa
50. 1f(562), exists then ite binary form 0. % (562 % T vy /

will be @&y -
S 101110010), (4) (101110010),
(B) (111000101), (B) (111000101),
© aimorion, (C) (111101101),
M) (101101101), (D) (101101101),
51. The value of AV is equal toD _ 51 AVH A AT &
(A) AV (A) AV
B) 8" (B) & -
A both (4) and (B) (C) & (4) 71 (B)
(D) None of these D) 74 } A T
52. Valueof E”is equal to_ 52. E*# 90 a0 ¢
ﬁ Kt (&) p+i
®) u-1 (B) p-13
©) 8+iu T (O s+
D) 8- 4u @) §-4o
53. "M relati —
relation between the operator 53, IR p AR 6 gy &
nanddis 5
A o1, W w=ie
Y 4,
e — 2
B w=1.2 B w=les
(C) pi= 1+ 52 (C) “3=]+52
D) w=1-8 - D =1
64. The operator 8 is defined by the 54 WV § WG 2 afiver Wiy
Operator equation (A) 8=E%+p-%
(A) 8=E% ¢+ g% =BT+ ETR
AP S=E% B) 8=E"-E%3
. (C} EzE-—E" (C) E=E-—E'lﬂ
D) 6=F+ g1 D) 8=E+E13
US-15107-Series-R (14)
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/66 he relation betweon the

/ operatorsc and E is_
\-.._/’ -
E S

W o=

®) o= ——

(C) G = e

(:’_
D) = £

eﬁ:stth;_eet_ermsinSth'ling’s
formulaare <" o

[

%

A) v, 5 By tay)+ 3 &y,
u u’
(B) Y. + E (dy_l_Ay.) + -E A’Y.;

©) y, + Q(Ay +Ay.)+ a'y,

@) y,+ 5 Br-4y.)+ 5 &%,

A V.,
57. anuaof; -2 is equal to

(A) A-V
B) alv
€) v-a

4 A+V

US-16107-Series-R

56.

87.

(15)

AT 6 AT E & a2

Stirling ¥ % Wa #1 ® ¥

o u
A y,* 2 (Ay +ay) + 7] Ay |

B) y,+ (.sy s AR u—z A%y
© y,+ (-\y YY) < u_—_

) u’
(D) y.* g (-”." -33’.1) * -':)' dly-l

AV )
-3 ¥ AW

(A A-v
B) A/Y
(O vi-a
D) a+v¢

https://www.ccsustudy.com
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— gy = - - ] r
58. Ify, -—.10. v, = § v, = 5.:}_,
theny, =

(A) §
B) 5%

A6

D 4
TN

J

7

-

5;9_. Value of & ¥ 1s equal to.:

- (A) Ar*? }.x‘(nm

'

B) acy_ o
(C} AR
(D} A= \j

y:—{nﬂl

xHn/)

60. Ifu= x;x,, then Gauss forward

) _ Interpolation formulaisy=.......

(8) ¥, + uay,+ YD 4
' - 12

»=1

AAAAAAAA

y=1

©) y, + ua y+ 2u-D s
12

wu-1)u-2)
+ 3 ,53?_1 +

--------

(D) None of these
US—15107—Series—R

(16)

- 10, B8 RLp2

59.

60.

10,5, =8, % =0V, 5y

—

@y, =
() 8

@) 5
(Cy 6

D) 4
anyxﬂqﬁm%:

(A) &n#‘l }'x-l'.ﬂm]

(B) 8"Y,.pu)
(C) 2% Yy qu
D} A*Y
al%u="‘h"° 0 M PREE o
W@ y=
+1
(A) }'u + llﬂyo'*' U{UB ) azr‘]
u(u’ - 1)
T A+
B) y, + ud y + —_U(E]) A*
u(u’=1)
T At

D) 4 & % &
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62.

63.
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The software can be divuled into

(A) Gencralj _P__l_lépﬂéae Software

and Special Purpose
Software

(B) Operating System and
Application Software

(C) System Software and
Application Software

(D) None of the above

How are software packages

jategarized _ -

(A} Hardware and software

(B) Word
Spreadsheets

processing and

software and

(C) System
hardware
(D) None of these

ceoer. 18 known as the first

WOMan programmer.

——

(A) Charles Babbage

ﬂ Lady Lovelace

64. Computer machine

US-16107-Series-R

(C) Abacus
(D) None of these

accepts
v l€VEL language.
(A) High ,
(B) Low .
Machine
/(D) Assembly

61.

A B fafa fear o 9% B
(A) HF FA AT AT
B e |
(B) ﬂf’ﬁ'fl‘T f#_FZI‘q' _;.ﬁ'r ﬁgzﬁn
wen
(C) [uz=z= mw=da7
qrraar
D) T # 3 5 A

e aga

63.

64.

(17)

A T 3

(A) FEATT I ARIT
(B) ¥ Fdfm @7 S
(©) Feem T 37 aray
(D) ¥ & 3 =

A AT R

(A) o8 ¥

(B) & FEdw
(C) wasw

D) FRE T
FYRET o &7 F1 W EET
Fdt B

(A) High

(B) Low

(C) Machine

(D) Assembly

https://www.ccsustudy.com
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66.
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Debugging is ......

(A) Easierin High level language
(B) In Assembly language more
complex than High level
language

Machine language is not good
as high level language and

assembly language
All of the above

(©)

(D)

The major components of a
computer are

(A) Memory

(B) CPU

(C) /O devices

/}) all of the above

87:

e

68.

US-15107-Series-R

You can write data into
and read data from the

............

% RAM,RAM &2

(B) RAM, ROM
(C) ROM, RAM
(D) ROM, ROM

The first machine to succeasfully
perform a long series of arithmetic
and logical operations was
(A) ENIAC

Mark-]
(C) Analytic origin
(D) UNIVAC-I

(18)

66.

67.

88,

"""""""""

(C) I,fogﬁm
(D) v a4

A 8T T e E sy
3 5 % R EL

(A) RAM, RAM

(B) RAM, ROM

(C) ROM, RAM

(D) ROM, ROM

oooooooooooo

e Rl A TS o il 3
SR o TR SR 7 e
A
(4) ENIAC

~(B) Mark~]

(C) Analytic origin
(D) UNIVAC-I

https://www.ccsustudy.com
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69. ENIAC &1 &% 8

/69 The acronym ENIAC stands for

Electronic Numericale=—

Integrator and Computer

(B) Electrical Neon Infuse and
Calculator

(C) Eulogistic Nuisance Is A Cart

(D) Electronic Number
Interpreter and Calculator
70. The name of first digital computer
js https://www.ccsustudy.com
S ATLAS
(B) NCR 395
(C) ENIAC
(D) None of these
71 A Computcr Network is

——

(’\) Colle:.tmn of hardwhre
components ahmr;;u;.er
{B) Intur connccted by
oummumcauon channels
((‘) Sharmg of resources and
m_formatlon
All of the above
72. What is thc use of Bridge in
Network _:.._, T
% Toconnect LANs
(B) To separate LANs
(C) To control Network speed

(D) Al of the above

—

70.

71.

72.

US-15107-Series-R (19)

https://www.ccsustudy.com

(A) Electronic Numerical

Integrator and Computer

(B) Electrical Neon Infuse and
Calculator

(C) Eulogistic Nwsance Is A Cart

(D) Electronic Number
Interpreter and Calculator
@ fRTed $ger B W 3

(A) ATLAS
(B) NCR395
(C) ENIAC

(A) FEIT geEt AR TG H I
(B) TFAYT ST & I J3M
(C) REds @ §&= & 8ewA
(D) SWF &

B e R Foqm @

(A) LANs & Jr¥4 &
(B) LANs & & F0 & R
(€) Y@ & wiE & PaT 3 kN

(D) I &t
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73. The last address of IP Address
represents
(A) Unicast address
(B) Broadcast address
(C) Network address
(D) Local address
74, LANisa
(A) Land Area Network
(B) Line Area Network
‘}) Local Area Network
' (D) Link Area Network
@Cumputer Networks can be
classified into ..., . types,
(A) Three ,
(B) Four&
€) Two
%) Five
76, Nis..... than WAN.
(A) Larger
) Smalier
(C) Equalto
(D) None of thesa
L topology is better than bus
topology.
(A) Ring

(B) Mesh
©) Tree.

ﬁ) S-t;r

i~

US—15107-—Series—R (20)

74.

75.

76.

(D) AT G

LAN 2 0%
(4) Land Area Network

(B) Line Area Network
(C) Laocal Area Network
(D) Link Area Network

TR D B oo TR 7 Ty
Frn @l B

A @

(B) ;N

C) @

(D) v

LAN ... 2 WAN &
(A) Larger

(B) Smaller

(C) Equalto

(D} None of thege

o QA T AR 3 o7

.

(4) R
B) Ay
€ #
(D) wrt

https://www.ccsustudy.com
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78. R WER & 309 MS-DOS 37

78. Which type of user interface

MS-DQS p!‘OV_iEE ' @i o
'&) GUI " @ Ul
®B) ABl €~ (B) ABI
(C) CUI (C) CUI
D) MGI D) MGI
79. The UNIX operating system can  79. L'Nl}; ST Ryeew Rwifom [
qepcl

bf_divided in to
(A) File system (A) File system &

(B) Scheduler (B) Scheduler 3
(C) Shell

(D) All of the above

(C) Shelld

(D) All of the above
80. (22),, | TRTH T 3

A) (10111),

(B) (10110),

(C) (00111),

(D) (01001),

80. Binary equivalent of (22),,is

() (10111),

ﬂ- (10110),

() (00111,

(M) (01001),

81. In Newton — Gregory formula for 81, ¥R g 3 g Tq"m T
backward interpolation, P (x) = A, + A, (x - a) (x-a-nh)
P,(x) = A, + A, (x - 8) (x-a-nh) F v FA,@ B
e the value of A 18 (A) fla+nh)

(A) fla*nh) (B) fla+h)
(B) fath) (€) o)
(C) f(a) (D) & & HiF T

US-15107-Series-R

(D) None of these

(21)
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82. The technique for obtaining the
value of f(x) for any value of the
argument outside the given range
of the argument is known as :

E#) Interpolation
(B) Estimation
(C) Finite Difference
ﬂ) Extrapolation
83. Newton-Gregory formula of

forward interpolation is used for

L4

/A) Equal intervals

(B) Unequal intervals

%,-Both equal and unequal
intervals

(D) Neither equal nor unequal
intervals
84." For finding a tabulated value near
the end of the data for equal
i;ltgrva]s, u;e_i:lave to use
Newton's backward
interpolation formula
(B) Newton’s forward formula
(C) __'I_'_Jg_i\_riq_ed_ difference formula
(D) Lagrange's interpolation
formula |

US-15107~-Series-R

g2, R

83.

84,

(22)

e o 3 P 0 T 77 PR

{A} Interpo]_aﬁon
@) Estimation

() Finite Difference
(D) Extrapolation

F T g 8

(4) Fm s |

(B) T Seraet

(C) §IM qu JEAA AA S
(D) @ qI W A FEHA SHan §

qF ITd R o B T 3
giq geee 79 Wa F B fow, o
ST T 8 T
(A) Newton's backward
interpolation formula
(B) Newton’s forward formula
(C) Divided difference formula
(D) Lagrange’s interpolation

formula

https://www.ccsustudy.com
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85. The polynomial interpolating the

B —txtrax 353 - LOONY )

86.

87.

US-15107-Series-R

data

X:

f(x) : .
is given by ¥ 3} X s B
v ole ) 2

(&)

©
(D)

o 1 2 . =2

0 5 2

S - _5

4x! + 9x

' 2 ™
[ 6X ~'o0™+ X ™
—ux A X

4x? - 9x
—4x?-9x

X! 0 1 2
fix): O 5 2
(A) 4x*+9x
(B) —4dx*+9x
(C) 4x*-9x

- 4x*-9x

In Newton's forward formula, for  86. u= [(x-n%} % [T = HIER i

u= [{x— a%] and w}_u-apqﬁ_‘f_(a_)_ =0

the formula reduces in to -

[:

II:
(A)
(B)
(C)
D)

Newton — Gregory formula for

f(x) = f(a) + ua f(a)

f(x) = fa) + (u+1) & f{a)
only [ is correct

only II is correct

Both 1 and II correct
None of these

equal intervals is a particular case

(A)

B)

©)

D)

---------

Everett's
formula
Lagrange’s interpolation
formula

Newton's divided difference
formula

Besgel's interpolation formula
(23)

interpolation

% ol 79 a%(a) = 0, TF M 2
1: fx)=fla)+uaf(a)d

I: f(x)=f(a)+(u+l)¢3f(a)f1
(A) 3 [ 9 @

B) I & 2

© 1AL ¢

(D) ¥ A P 7

87. A TR 3 fU AT 6

1 @@ RNg AT B

(A) @& & @ T3
(B) AW & Ha@e G

(©) wpmf:mrﬁraam
(D) W H FTQH T

https://www.ccsustudy.com S
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Let y = f(x) be a function and for

88.
e Xy Xy e X} the » y-values
are Y. ¥, ¥y covvveeens - ¥}, Now for
applﬁnézﬁe Lagrange's formula.of
interpalation, minjmum required
_nis__
(A) n=1
"B n=2
{C) n=3
D) n=4
89. The mean of Gauss's forward
forn;fulg and the third due to
Gaussis ... .~ e
(A) Lagrange’s interpolation
formula
®) Stirling's interpolation
formula
(C) Newton-Gregory formula
»fPF Bessel's interpolation formula
90,

About central difference tablo, we,
have three statements (for Gauss

a

‘i_nl.bEI‘pOhtiOnT T

I: It uses forward difference
Operators

IT: It ugeg backward difference

operators

It uges central difference

operatorg

ouly I and IT correct

(B) onlyI and I correct

(C} onlyII and I correct

M) 1,11 ang I corpect

Il -

(A)

US~iBll]7—Series-R

(24)

88.

89.

0.

ﬁaﬁ?{x,,x
:f(x)@w ’ 1,}’
rn?ﬂy RPNy,

....... y.},glﬂﬂmw
@aﬁ?@i‘ﬁ“ nFH A R gy

&) n=l

i a1 i 7 B 3 g g
FMH o B

&) I T ATEAE G

(B) ®RM B HTXT TN

©) AT @
D) ¥&d F HE T

WWM%h@ﬁmm;
(e iR i
Lo o wved vt o0 amafiy atged

®) %3a [ e 11y gay
@) L1 G 111 ey
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91. The two symbols 0 and 1 are

known as

e -

(A) Bytes
(B) Digits

ﬁ Bits

92,

f)"l’!lg

(1011010),=(?),,
@A) 5D

B) 5C
() 5B

D) 5A

93. ..

94.

95... The hardware camponentused for ..

. is the protocol suite for
current internet,
(A) TCPAP
(B) NCP
(C) UNIX
(D) ACM
Which number system refers base
107
(A) Binary
Decimal
(C) Octal
(D) Hexadecimal

~ temporary storage of data and

—————

. Apphcahons for proce ssmg is

(A) Monitor
(B) Processor

_##57 RAM

US-15107-Series-R

(D) Hard-disk

91 AMMF O M 1A ...occeee. % &

92,

93.

94.

95.

(25)

i Gl d

(4) ey
®B) ey
(C) fw
D) Hma
(1011010, =
(A) 5D
B) 5C
(C) 5B
D 5A
............ g fee @ RiT e
g ¢

(a) 4. /am .

(B) T

© =

D) i
Eﬂ?—tﬁﬂ@rmwmﬁwﬁh
B B

(A) fasnardt

(B) <Wed

(C) Fr=rd

D) W8 Jmrd
W%Mﬂwmmﬂ
% P % T IR e 9% 2
(&) =R

®B) MWK

€) ™

D) #d @

(?)15 ™~
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96. Which of the following is a read

, only memory storage device

(A) Pendrive ~
(B) Hard-disk »

(C) Scanner «

_@f CD-ROM +»

97.

What 1s ALU

f Arithmetic logm unijt

98.

US-15107-Series-R

B) Array logic unit

(C) Applicable logic unit

(D) None of these

A source program is usually in

(4) Machine Level language

(B) High-Level lﬂ.n-guage

(C) Assembly language

(D) Low Level language

The BOOT sector files of the

system are gtored in ............

(A) Hard disk

(B) RAM

€ ROM

(D) Past solid state chips in the
motherboard

(26)

97.

98.

99,

https://www.ccsustudy.com

g6, fr 1 7 A I

i
qfﬂﬂ“gﬂ”‘%f

LU 71 ¢

W) S T TP

B) 7 T TR »
(C) oy o 3R e
(D) ¥ § 3R

G 4R S e 8
A) = @ T A
(B) I Wi wmr §

(C) = anr &

(D) Fre-wria A

Ry 21 BOOT Y=L TR ...
fmeT?rGﬂd?f-l

—

@ MR

B

C) W
D) =& ¥ wiee g sqer
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100.The list of instruction is called 100. et &t = A
0 (A) T

(A) Application (B R
(B) Software - ' [ _
(C) Coding .- »(C) T
(D) Program 1\- (D) g™

https:/www.ccsustudy.com
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Send vour old paper & get 10/-
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(27)
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